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\ Solving Sequence
1

6,11>12>5—>1—>7—>4—>2->10>8—>3 — 9> C2,C8

A knot diagrarrﬂ Cl1 €3 Ci2 € C4 €1 Clo C7r €3 Cg
Ideals for irreducible component#ﬂ)f Xpar

I = (W — ™+ 2u—1)

* 1 irreducible components of dim¢ = 0, with total 51 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I*=(u —u®+... 4+ 2u—1)

(i) Arc colorings

1
ailz = \0

1
a1g = U2

u

a5 = u3 + U

w? 41
a; = U4 + 2’LL2

—ud —2ud —u

ar = \ —y7 —3u® —2u +u

ud +2u
a4 = wtu

—ul® — 548 — 8ub — 3ut +3u? +1
az = —u'0 — 4u® — 5ub + 3u?

—ul?2 — 5410 — 9y —6ul +u +1

a10 = \ —u — 6u'? — 13019 — 1068 + 2u + 4u* — 2

—ul? — 8ul” — 26w’ — 42013 — 31wt — 200 + 10u” + 4ud — w3 — 2u
ag = SRS NN Y90 C SRR SUEPY

ut® +18u + - — Tud + 2u
az = \ u®® + 19 + - + 50 +u

wt +15u2 + - 45Ul + 1
ag = \u3* + 14u3 + .- + 16u* — u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u*" + 4u*? + .- 4+ 20u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C7,C10 udt —7u50+ coo 4+ 1120 — 17
C9,C3,C8 u51+u50+_._+3u2+1
C9
C4, Cg ubt — w0 4 3 1
C5,C11,C12 w4 2u




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C7,C10 y51 + 47y50 + -+ 202y — 289
€2,€3,C8 P+ 5550 4+ —6y — 1
cy
C4,Cq yPl =250 . — 6y — 1
C5,C11, C12 Yol A3y 4+ — 6y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

= —0.249709 + 0.9482261

4.63631 — 2.120881

—1.01844 + 2.808111

= —0.249709 — 0.9482261

4.63631 + 2.120881

—1.01844 — 2.808111

= 0.295729 + 0.9946441

—2.13539 + 4.898331

—5.01649 — 2.194511

= 0.295729 — 0.9946441

—2.13539 — 4.898331

—5.01649 + 2.194511

= 0.230603 + 0.8535321

4.74743 — 1.960481

—0.34668 + 4.234061

= 0.230603 — 0.8535321

4.74743 4+ 1.960481

—0.34668 — 4.234061

= —0.273056 + 0.7742651

—1.78828 4 4.723111

—4.06394 — 4.266631

= —0.273056 — 0.7742651

—1.78828 — 4.723111

—4.06394 + 4.266631

= 0.777766 + 0.1783771

—4.65007 — 8.934591

—8.10474 + 6.185741

= 0.777766 — 0.1783771

—4.65007 + 8.934591

—8.10474 — 6.185741

= —0.761639 + 0.1845561

2.23741 4 6.020411

—4.49356 — 6.919851

= —0.761639 — 0.1845561

2.23741 — 6.020411

—4.49356 + 6.919851

= 0.775098 + 0.0604631

—11.25330 — 3.4449171

—12.79521 + 3.555771

= 0.775098 — 0.0604631

—11.25330 4 3.444911

—12.79521 — 3.555771

= 0.742257 4+ 0.1921701

2.53020 — 1.801861

—3.57173 4+ 0.693421

2.53020 4 1.801861

—3.57173 — 0.693421

= 0.318281 + 1.2013701 —7.76752 — 0.519631 0
= 0.318281 —1.2013701 —7.76752 + 0.519631 0
= —0.275754 + 1.2211101 —0.186542 + 1.3262901 0
= —0.275754 — 1.2211101 —0.186542 — 1.3262901 0

= —0.716310 + 0.2074681

—3.73927 — 1.037001

—7.10850 — 0.876051

= —0.716310 — 0.2074681

—3.73927 + 1.037001

—7.10850 + 0.876051

= 0.063850 + 1.2589101

4.32614 — 1.528051

0

= 0.063850 — 1.2589101

4.32614 + 1.528051

0

= —0.731823 + 0.0575521

—3.72646 + 2.325961

—11.41052 — 5.705641

= —0.731823 — 0.0575521

—3.72646 — 2.325961

—11.41052 4 5.705641

U
U
U
U
U
U
U
U
U
U
U
U
U
U
U
uw=0.742257 — 0.1921701
U
U
U
U
U
U
U
U
U
U
U
U
U
U

= 0.267337 + 1.2861001 2.27908 — 3.390121 0
= 0.267337 — 1.2861001 2.27908 + 3.390121 0
= —0.145806 + 1.3177401 —1.58295 + 3.138341 0
= —0.145806 — 1.3177401 —1.58295 — 3.138341 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape

u= 0.671685 —1.74026 —4.25130
u = —0.306268 + 1.3013001 0.52039 + 6.082841 0
u = —0.306268 — 1.3013007 0.52039 — 6.082841 0
u= 0.332711 + 1.3011307 —7.00145 — 7.442261 0
u= 0.332711 — 1.3011307 —7.00145 4 7.442261 0
u = —0.297050 + 1.3726401 1.25075 + 2.648721 0
u = —0.297050 — 1.3726401 1.25075 — 2.648721 0
uw= 0309777+ 1.3714101 7.47174 — 5.620761 0
uw= 0309777 — 1.3714101 7.47174 4 5.620761 0
u = —0.319107 + 1.3709801 7.15390 + 9.936391 0
u = —0.319107 — 1.3709801 7.15390 — 9.936391 0
u= 0.327378 4+ 1.3702701 0.24340 — 12.933301 0
u= 0.327378 — 1.3702701 0.24340 4 12.933301 0
uw=0.00618 + 1.424427 11.54180 — 2.180331 0
u= 0.00618 — 1.424427] 11.54180 + 2.180331 0
u = —0.01946 + 1.424771 4.94539 + 5.222411 0
u = —0.01946 — 1.424771 4.94539 — 5.2224171 0

—0.374516 +- 0.3440981

—6.57378 + 1.344801

—7.53020 — 4.737801

—6.57378 — 1.344801

—7.53020 + 4.737801

0.187694 + 0.2672861

—0.141288 — 0.7467031

—4.42303 + 9.265871

U
u = —0.374516 — 0.3440981
U
U

= 0.187694 — 0.2672861

—0.141288 +4- 0.7467031

—4.42303 — 9.265871




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C7,C10 WP — 70+ 1120 — 17
C2,C3,C8 u51—|—u50+--~+3u2+1
C9
C4, Cg Pt — w0 30 41
C5,C11,C12 wt w0 2u 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,¢1,¢10 Yol 4Ty - 202y — 289
C2,C3,C8 P55 4+ — 6y — 1
Co
C4,Cg y51725y50+~~76y71
C5,C11,C12 y51+43y50+~~76y71




